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Unit B Transformations Practice Exam

Choose the best answer.


1.
What is the image of (8, 1) when it is reflected across the line y ( x?


A
(1, 8)
C
(1, 8)


B
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2.
Which of the following capital letters 
has a horizontal line of reflection?


F)
M
H)
O


G)
N
J)
P


3.
The endpoints of 
[image: image3.wmf]MN

 are M(2, 5) and N(8, 1). Which shows the endpoints of the segment after it is translated along the vector (2, 3(?


A
M(4, 10), N(24, 3)


B
M(4, 15), N(16, 3)


C
M(0, 3), N(11, 2)


D
M(0, 8), N(6, 2)


4.
What is the image of (5, 4) when it is rotated 180° about the origin?


A
((5, 4)


B
(4, 5)


C
((5, 4)


D
(4, 5)
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5.
Which shows the image of    after a 
180° rotation about the endpoint of the ray?

[image: image7.jpg]14. Given the hgure below. Reflect the triangle through the line
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F

H



G

J


Use the figure for Exercises 6–8. 

The coordinates   
of the vertices 
are integers.


7.
(JKL is translated along the vector 
8, 5. What are the coordinates of 
the final image of point J under this composition of transformations?


A
(8, 8)
C
(8, 2)


B
 (0, 3)
D
(8, -2)


8.
(JKL is reflected across the 
x-axis. What are the coordinates of 
the final image of point J under this composition of transformations?


F
(0, 3)
H
(3, )


G
(, -3)
J
(3, 0)


8.
When the point (3, 2) is reflected across the y-axis, what is the resulting image?


A
(3, 2)


B
(3, 2)


C
(2, 3)


D
(3, 2)

9.   Composition of Transformations:

-Graph triangle A(-3,4), B(-6,0), C(-1,2).

-Reflect over the x-axis.

-Translate with vector <-4,7>.  
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10.  State the angle of rotational symmetry for each figure below, if it exists.


11.
A quadrilateral with vertices (3, 3), 
(3, 0), (3, 0), and (3, 3) is reflected across the y-axis. Which is NOT a 
vertex of the image?


F
(3, 3)


G
(3, 0)


H
(3, 0)


J
Not here


12.
Which vector translates R to S?
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A
3, (5
C
3, (5

B
3, 5
D
(5, 3
13.
What is the angle of rotation about point P to map point C to point H?

[image: image6.jpg]



Write your answers in the space 

provided on the answer sheet.

14.
  Identify the image of the point A (6, 9) when A is reflected across the line y  x. What is the value of the           y-coordinate?
15.
After a translation, the image of P (3, 5) is P(4, 3). Identify the image of the 
point (1, 6) after this same translation. What is the x-coordinate of the image?

y = 4
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